					B&H	B&H	KeyCode Media	KeyCode Media	Adorama	Adorama	ProSound	ProSound	
	Qt	Manuf	Model	Desc.	Cost	Extended	Cost	Extended	Cost	Extended	Cost	Extended	
1	6	Canon	5157C001	PTZ Studio cameras	\$2,040.62	\$12,243.72	\$2,159.10	\$12,954.60	\$2,291.00	\$13,746.00	\$2,120.00	\$12,720.00	
2	4	Canon	5733C002	Cameras	\$1,309.34	\$5,237.36	\$1,439.10				\$1,600.00		
3	4	Canon	8597B002	Camera Batteries	\$92.97	\$371.88	\$102.20	\$408.80	\$96.00	\$384.00	\$100.00	\$400.00	
4	1	Panasonic	AG-BRD50P	Panasonic Battery Charger for AG-VBR & Other Batteries	\$211.27	\$211.27	\$217.80	\$217.80	\$207.00	\$207.00	\$200.00	\$200.00	
5	1	Allen and Heath	AH-AP9262	Dust cover	\$52.49	\$52.49	\$53.99	\$53.99	\$69.00	\$69.00	\$50.00	\$50.00	
6	1	Allen and Heath	AH-QU-16C	Audio mixer	\$1,558.65	\$1,558.65	\$1,624.99	\$1,624.99	\$1,530.00	\$1,530.00	\$1,450.00	\$1,450.00	
7	1	Panasonic	AW-UE20KP	PTZ Camera	\$1,234.00	\$1,234.00	\$1,255.50	\$1,255.50	\$1,219.00	\$1,219.00	\$1,200.00	\$1,200.00	
8	3	Jupio	BPA0001	Jupio ProLine VW- VBD58/AG-VBR59 Battery (6700mAh)	\$74.93	\$224.79	\$104.76	\$314.28	\$115.00	\$345.00	\$0.00	\$0.00	
9	12	Clear-Com	BP-MOUNT	Belt pack mount for desktop use		\$0.00	\$56.80	\$681.60	\$64.00	\$768.00	\$55.00	<b>\$660.00</b>	
10	12	Clear-Com	CC-300-X4	Single-ear intercom headset		\$0.00	\$323.00	\$3,876.00	\$325.00	\$3,900.00	\$310.00	\$3,720.00	
11	12	Clear-Com	CC-400-X4	Double-ear intercom headset	<u> </u>	\$0.00			\$373.00	\$4,476.00	\$355.00	\$4,260.00	
12	24	Clear-Com	RS-701	Intercom belt packs		\$0.00	\$356.90	\$8,565.60	\$342.00	\$8,208.00	\$330.00	\$7,920.00	
13	15	Prompter People	ROBO-JR-MAX-19	Prompter People ROBO JR Max PTZ Teleprompter with 19" Monitor for Larger PTZ Cameras (4:3)	\$2,268.00	\$34,020.00	\$2,550.00	\$38,250.00	\$2,226.00	\$33,390.00	\$0.00	\$0.00	
14	15	Davis & Sanford	PSGAIRLIFT60B	Pedestal for teleprompters	İ	\$0.00	)	\$0.00		\$0.00	\$0.00	\$0.00	
14B	15	Libec	LX10 STUDIO	Libec LX10 Two-Stage Aluminum Tripod System and H65B Head with Dual Pan Handles and Spreader Dolly	\$979.99	\$14,699.85	\$1,151.10	\$17,266.50	\$1,113.00	\$16,695.00	\$0.00	\$0.00	
15	15	Startech	HDMM40	40' HDMI cable for prompters	\$43.68	\$655.20	\$44.24	\$663.60	\$45.00	\$675.00	\$0.00	\$0.00	
16	1	X-Keys	XK-1456-124VS-R	Switcher surface for vMix	\$790.00	\$790.00	\$869.20	\$869.20	\$790.00	\$790.00	\$0.00	\$0.00	
17	2	Marshall	VS-PTC-300	PTZ camera controller	\$671.67	\$1,343.34	719.99	\$1,439.98	\$702.00	\$1,404.00	\$735.00	\$1,470.00	
18	4	Manfrotto	MTPIXIMII-B	Stand for monitors	\$19.00	\$76.00	\$25.19	. <del> </del>	÷	\$100.00	\$0.00	<del></del>	
_							<mark>-</mark>	ļ	<del> </del>		ļ	<del></del>	
19	4	Cerevo	CDP-FT01B	Tally lights	\$602.00	\$2,408.00	\$650.07	\$2,600.28	\$445.00	\$1,780.00	\$0.00	\$0.00	
20	4	Lilliput	HT10S	10" monitor for announcers and other field use	\$275.40	\$1,101.60	\$299.25	\$1,197.00	\$260.00	\$1,040.00	\$0.00	\$0.00	
21	5	Kanex	SP-HD1X44K	4x1 HDMI splitter for prompter feed	\$69.95	\$349.75	\$71.37	\$356.85	\$67.00	\$335.00	\$0.00	\$0.00	
22	12	Kopul	M3100	100' XLR cable	\$29.96	\$359.52	\$33.96	\$407.52		\$0.00	\$0.00	\$0.00	
23	12	Kopul	M3025	25' XLR cable	\$18.71	\$224.52	\$21.21	\$254.52		\$0.00	\$0.00	\$0.00	
24	3	JackReel	JackReel3	JackReel High-Capacity Steel Frame Cable Reel	\$53.84	\$161.52	\$55.64	\$166.92	\$54.00	\$162.00	\$0.00	\$0.00	
25	7	SanDisk	SDSDXXD-128G-ANCI	SanDisk 128GB Extreme PRO UHS-I SDXC Memory Card	\$19.89	\$139.23	\$22.99	\$160.93	\$22.99	\$160.93	\$0.00	\$0.00	
26	2	RETYZ	EVT-V16BK-TA	Pkg. of 100 zipties for vable management		\$0.00	\$66.39	\$132.78	\$79.00	\$158.00	\$0.00	\$0.00	
27	2	Watson	DX-1508	Watson Duo LCD Charger for Canon BP-800 Series Batteries	\$49.00	\$98.00	\$67.96	\$135.92		\$0.00	\$0.00	\$0.00	

28	3	Panasonic	HC-X2000	Camcorders	\$1,620.00	\$4,860.00	\$1,997.99	\$5,993.97	\$1,895.00	\$5,685.00	\$0.00	\$0.00	
29	2	Nikon	1618	Camera		\$0.00	\$1,470.47	\$2,940.94	\$1,996.95	\$3,993.90	\$0.00	\$0.00	
30	1	Nikon	20063	AF-S Nikkor 70-200mm f/2.8 FL ED VR		\$0.00	\$1,996.79	\$1,996.79	\$2,346.95	\$2,346.95	\$0.00	\$0.00	
31	2	Sigma	311306	50mm f/1.4 DG HSM Art Lens for Nikon F	\$747.90	\$1,495.80	\$902.00	\$1,804.00	\$949.00	\$1,898.00	\$0.00	\$0.00	
32	2	Nikon	2193	AF-S NIKKOR 24-120mm f/4G ED VR Lens		\$0.00	\$1,096.95	\$2,193.90	\$1,096.95	\$2,193.90	\$0.00	\$0.00	
33	2	Rode	VIDEOMIC-R	RODE VideoMic Camera- Mount Shotgun Microphone	\$78.54	\$157.08	\$116.22	\$232.44	\$149.00	\$298.00	\$0.00	\$0.00	
34	6	Nikon	27213	EN-EL15c Rechargeable Lithium-Ion Battery		\$0.00	\$50.91	\$305.46		\$0.00	\$0.00	\$0.00	
35	2	Manfrotto	MANPROCUBEN**	Manfrotto ProCUBE Professional Twin Charger for Nikon EN-EL14, EN- EL15, EN-EL25 Batteries		\$0.00	\$73.92	\$147.84	\$74.00	\$148.00	\$0.00	\$0.00	
35B	2	hahnel	HL -PROCUBE2-N**	hahnel Professional Charger PROCUBE2 for Select Nikon Batteries	\$66.78	\$133.56		**Bid awarded	to Adorama for o	original requeste	ed item.		
36	4	Lexar	LSD128CBNA1667	128 GB Memory cards for camera	\$37.17	\$148.68	\$32.39	\$129.56	\$35.00	\$140.00	\$0.00	\$0.00	
37	2	Lowepro	LP37177-GRL	Lowepro ProTactic BP 450 AW II Camera and Laptop Backpack (Black, 25L) Bag will hold both DSLRs and Lenses.	\$179.00	\$358.00	\$210.52	\$421.04	\$239.00	\$478.00	\$0.00	\$0.00	
38	3	Sony	HXCFZ90HN	Sony HXC-FZ90 4K HDR Studio Camera (Neutrik, Body Only)	\$10,345.00	\$31,035.00	\$11,592.00	\$34,776.00	\$10,766.00	\$32,298.00	\$0.00	\$0.00	
39	3	Sony	HXCUFZ90	Camera control unit for Sony HXCFZ90SN	\$5,555.00	\$16,665.00	\$5,760.00	\$17,280.00	\$5,349.00	\$16,047.00	\$0.00	\$0.00	
40	3	Sony	HDVFEL75	Sony 7.4" OLED HD ViewFinder for Portable Cameras	\$7,445.00	\$22,335.00	\$7,639.20	\$22,917.60	\$8,554.00	\$25,662.00	\$0.00	\$0.00	
41	3	Sony	CCFN-25	Sony hybrid optical fiber cable	\$826.20	\$2,478.60	\$856.80	\$2,570.40	\$825.00	\$2,475.00	\$0.00	\$0.00	
42	3	Fujinon	XA20SX8.5BERM-K3	Fujinon XA20sx8.5BERM- K3 ENG Lens	\$4,598.00	\$13,794.00	\$5,304.00	\$15,912.00	\$5,374.00	\$16,122.00	\$5,800.00	\$17,400.00	
43	3	Fujinon	MS-01	Fujinon MS-01 Rear Zoom and Focus Lens Control Kit	\$1,294.00	\$3,882.00	\$1,470.00	\$4,410.00	\$1,454.00	\$4,362.00	\$1,460.00	\$4,380.00	
44	1	Audinate	DDM-TRM-5Y-GLD-100	Audinate Dante Domain Manager Gold Edition License	\$4,832.35	\$4,832.35	\$5,113.60	\$5,113.60	\$5,714.00	\$5,714.00	\$0.00	\$0.00	
45	1	Camplex	CMX-OPTIEYE	Camplex CMX-OPTIEYE Shutter Restraint	\$45.00	\$45.00	\$47.56	\$47.56	\$45.00	\$45.00	\$0.00	\$0.00	
46	1	Camplex	CMX-TL-1601	Camplex Complete Fiber Optic Cleaning Kit	\$304.13	\$304.13	\$314.46	\$314.46	\$299.00	\$299.00	\$0.00	\$0.00	
47	1	Both Lighting	BO-TUBE192	8pcs with a case 28w Waterproof IP65 Both pixel tube 360° PIXEL LED Tube RGBWA Battery-Powered LED Wireless DMX Tube Light		\$0.00	\$1,809.36	\$1,809.36	\$2,154.00	\$2,154.00	\$0.00	\$0.00	

48	1	Ultimate Support	16124	MC-125 Professional Studio Boom Stand	\$175.00	\$175.00	\$180.59	\$180.59	\$159.00	\$159.00	\$0.00	\$0.00	
49	2	Newtek	PTUTC1	ProTek Ultra for Tricaster TC1		\$0.00	\$1,516.00	\$3,032.00	\$1,637.00	\$3,274.00	\$0.00	\$0.00	
50	1	Audio-Technica	AT4053B	Audio-Technica	\$485.76	\$485.76	\$587.16	\$587.16	\$439.00	\$439.00	\$0.00	\$0.00	
51	1	Kramer	6241HDXL	Kramer 4x1 3G HD-SDI Switcher	\$606.00	\$606.00	\$565.60	\$565.60	\$589.00	\$589.00	\$0.00	\$0.00	
52	1	Kramer	RK-3T-B	Kramer rack adapter	\$65.34	\$65.34	\$66.00	\$66.00	\$65.00	\$65.00	\$0.00	\$0.00	
53	1	Tripp Lite	RS1215-RA	12-Outlet Rackmount Power Strip	\$72.04	\$72.04	\$75.60	\$75.60	\$72.00	\$72.00	\$0.00	\$0.00	
54	4	Clear-Com	CLCM-CC-400-X4	Clear-Com CC-400-X4 Double-Ear Intercom Headset with 4-pin Female XLR		\$0.00	\$356.70	\$1,426.80	\$373.00	\$1,492.00	\$355.00	\$1,420.00	
55	4	Rode	M5-MP	Condenser Misrophene	\$130.86	\$523.44	\$159.20	\$636.80	\$140.00	\$560.00	\$138.00	\$552.00	
56	4	Rode	SB20 Stereo Bar	Rode Stereo Bar Mic Mount	\$29.54	\$118.16	\$40.18	\$160.72	\$28.00	\$112.00	\$35.00	\$140.00	
57	1	Gator	G-CABLEBAG-LG	Gator Cable & Accessory Organization Bag	\$59.00	\$59.00	\$67.20	\$67.20	\$70.00	\$70.00	\$0.00	\$0.00	
58	2	Teradek	11-0904	Teradek 6G Flexible "Mushroom" H Antenna Kit for Bolt 6 (4-Pack)	\$299.00	\$598.00	\$331.55	\$663.10	\$299.00	\$598.00	\$0.00	\$0.00	
59	1	Teradek	10-2530-V	Teradek Ranger Micro 750 3G-SDI/HDMI Wireless Transmitter/Receiver Kit (V-Mount)	\$3,999.00	\$3,999.00	\$4,740.50	\$4,740.50	\$4,495.00	\$4,495.00	\$0.00	\$0.00	
60	4	K&M	21090-500-55	K&M 210/9 Tripod Microphone Stand	\$64.95	\$259.80	\$70.39	\$281.56	\$59.00	\$236.00	\$0.00	\$0.00	
61	6	Auray	WMC-100	Auray WMC-100 Wide Mouth Case	\$9.74	\$58.44	\$10.39	\$62.34	\$9.00	\$54.00	\$0.00	\$0.00	
62	2	Watson	D-4203BKI	waison NP-F770 TWO-	\$89.00	\$178.00	\$158.98	\$317.96	\$0.00	\$0.00	\$0.00	\$0.00	
63	2	Watson	B-4205	Postson Kitz-ith 70 Loch Con-	\$19.99	\$39.98	\$33.59	\$67.18	\$0.00	\$0.00	\$0.00	\$0.00	
64	1	Dracast	DRKP1000B3K	Dracast Kala Plus Series LED1000 Bi-Color LED Light Panel (3-Light Travel	\$1,510.92	\$1,510.92	\$1,539.23	\$1,539.23	\$1,499.00	\$1,499.00	\$0.00	\$0.00	
65	2	ikan	PT-ELITE-PRO-RC	Kit) IKAN EINE PIO UNIVERSAI	\$561.75	\$1,123.50	\$615.99	\$1,231.98	\$595.00	\$1,190.00	\$0.00	\$0.00	
66	1	DJI	CP.MA.00000664.01	DJI Mavic 3 Pro Cine Drone	\$4,146.34	\$4,146.34	\$4,559.05	\$4,559.05	\$4,599.00	\$4,599.00	\$0.00	\$0.00	
67	1	Nanuk	925-MAV3P1	Nanuk 925 Waterproof Hard Case for Mavic 3 Pro/Pro Cine (Black)	\$144.90	\$144.90	\$167.26	\$167.26	\$204.95	\$204.95	\$0.00	\$0.00	
68	2	Blackmagic Design	CINSTUDMFT/G26PDF	Blackmagic Design Studio Camera 6K Pro (EF Mount)	\$2,155.00	\$4,310.00	\$2,170.65	\$4,341.30	\$2,116.00	\$4,232.00	\$2,170.00	\$4,340.00	
69	2	Blackmagic Design	CINSTUDMFT/H/SC	Blackmagic Design Studio Converter	\$825.00	\$1,650.00	\$830.85	\$1,661.70	\$810.00	\$1,620.00	\$830.00	\$1,660.00	
70	2	Blackmagic Design	CINSTUDMFT/H/FD	Blackmagic Design Focus Demand	\$211.00	\$422.00	\$213.15	\$426.30	\$208.00	\$416.00	\$215.00	\$430.00	
71	2	Blackmagic Design	CINSTUDMFT/H/FZD	Blackmagic Design Zoom Demand	\$211.00	\$422.00	\$213.15	\$426.30	\$208.00	\$416.00	\$215.00	\$430.00	
72	2	Canon	2568C002	Canon CN-E 70-200mm T4.4 Compact-Servo Cine Zoom Lens (EF Mount)	\$4,839.56	\$9,679.12	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	
73	1	Blackmagic Design	SWPANELCCU4	Blackmagic Design ATEM Camera Control Panel	\$2,655.00	\$2,655.00	\$2,678.73	\$2,678.73	\$3,079.00	\$3,079.00	\$2,675.00	\$2,675.00	
74	2	Manfrotto	MVH502A,546BK-1	Manfrotto MVH502A Fluid Head and 546B Tripod System with Carrying Bag	\$399.99	\$799.98	\$573.96	\$1,147.92	\$574.00	\$1,148.00	\$0.00	\$0.00	

75	2	Manfrotto	MVAPANBARL	Manfrotto Telescopic PVC- Free Pan Bar for Select Manfrotto Video Heads	\$52.99	<b>\$105.98</b>	\$71.89	\$143.78	\$63.00	\$126.00	\$0.00	\$0.00	
76	1	Jason Cases	BMST6KLPL	Blackmagic Studio Camera 6K Pro case (3- Camera with lenses)	\$679.64	\$679.64	\$755.16	\$755.16	\$680.00	\$680.00	\$750.00	\$750.00	
77	2	Laird	CA16-HDB1-164	Laird Digital Cinema 10GB Belden 10GX CAT6a Enhanced Shielded IP Ethernet Cable (164')	\$154.66	\$309.32	\$160.52	\$321.04	<b>\$152.00</b>	\$304.00	\$0.00	\$0.00	
78	1	APC	SMT1500RM2UC	Uninterruptible Power Supply for Rack Equipment		\$0.00	\$828.80	\$828.80	\$721.00	\$721.00	\$0.00	\$0.00	
79	1	APC		Service Pack 3 Year Warranty Extension (for new product purchases)		\$0.00	\$153.72	\$153.72	\$149.00	\$149.00	\$0.00	\$0.00	
80	2	APC		Uninterruptible Power Supply - Powerstrips (for computers)		\$0.00	\$92.99	\$185.98	\$91.00	\$182.00	\$0.00	\$0.00	
81	2	APC	WEXTWAR3YR-SP-01	3 Year Extended Warranty		\$0.00	\$93.59	\$187.18	\$95.00	\$190.00	\$0.00	\$0.00	
82	2	Blonder-Tongue	HDE-CSV-QAM/IP	Encoders	\$1,656.88	\$3,313.76	\$1,948.93	\$3,897.86	\$2,199.00	\$4,398.00	\$0.00	\$0.00	
83	3	AC Infinity	AL CDOL	AC Infinity CLOUDPLATE T7 Rackmount Cooling Fan System (Exhaust	\$92.50	\$277.50	\$107.07	\$321.21	\$134.00	\$402.00	\$0.00	\$0.00	
84	2	Sony	MDR-7506	Sony MDR-7506 Headphones for Monitoring	\$74.99	\$149.98	\$89.99	\$179.98	\$70.00	\$140.00	\$0.00	\$0.00	